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Y B COMPUTER INFORMATION TECHNOLOGY

'Maximum : 60 Scores - . |
Time : 2 Hours
Cool off time : 15 Minutes

/ General Instructions to Candldates : I - \
~® There is a 'Cool off tlme of 15 mmut.es n addltxon to the wntlng time of 2 hrs

¢ You are not allowed to write your answers nor to dxscuss anything wn;h ot.hers
during the 'cool off time'. |, :

Use the cool off time' to get familiar w1th questlons and to pla.u YyOUT answers.

Read questions carefully before answering. '

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself. '

Cﬂmmom, figures-and graphs should be shown in the answer sheet itself.
'® Malayalam version of the questions is also provided. ' '

® Give equations wherever necessary.
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7. .

Consider a logical expression
Y =AB +AB

1) Prepare the truth table for
the above expression.

ii) Construct a logice circuit for
the expression.

If the ASCII code for A is

1000001, C is 1000011 and T'is

1010100, how can we represent
the word CAT in ASCII?

Simplify the follomng
expression :
x.y.z+Xx.y.Z +x.¥.2 +x.5.2

- Complete the series : _
" 1000, 1010, .......... , 1110, .........

Find the value of x :
(125.75), = (x ),
List out the main advantages

and limitations of optical disks.

Peripheral sharing is one of the
advantages of computer networking.
Explain with a suitable example. (3)

@

(2)

(1)

(1)

)

)

- You are asked to present a seminar
on video conferencing. You don't
have any book with you. With the

help of internet facility, how will you

collect the details?
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. Y =AB +AB gy logical
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expression al@lwem.gpeoens

i) Truth table ogooceae. - (1)

ii) Logic circuit alogye. ()

A @yos ASCII code 1000001

oo € apes 1000011 go- T
wyes 1010100 oo eReEmBIT

- CAT agym aioss ASCII wied

ag)SIBOM represent 6.21990? )

. OOOYHOEMY expression -

21921} (@la6)) d>.

Ty z+iyZ+x.y.Z+x.5.z (1)

Serieé aldoflosaide. .
1000, 1010, .......... , 1110, Femsssee @

x O value &mn_ﬂé]ceogﬁ
(125'75)102(" e | (D)

Optical disks e oa.aEms
B loMIPmEo og;smos)uso?
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Peripheral sharing agymea?
computer networking
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9. Your friend wishes to start a
DTP centre with facilities to
design posters and notices, to
scan pictures and medify them
and to print them. What would
be your suggestions regarding

. the computer and peripherals?

10. An operating system is called as
- aResource Manager. Give
- reasons for this.

11. ............isan example for an
open source system software.

* List the features of GNU/Linux.

© 13, Machine language prograins
' - wntten in one computer will
- 'generally not run on another

with a different CPU. Why?

P

14. Raju wanted to send his photo
~ to Babu who is in USA as an
* Email. He has a photograph in
his hand. Suggest a method for
sending his photo.

15. With the help of a block
. diagram, explain the functional
- units of a digital computer.
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11.
12.

13.
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15.
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" modify .21 print
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centre mysemod alemgies
MUIROYS @DIDclenL),
aficeles eniene computers
em®jo peripherals emwjo:
aydlal alemges aldeguemsgd
0g)eOame0o? -

Operating syétem @rsiiexn.
Resource Manager agym
afidleniom;. H00ememead |

@

(3)
............. open source system

software (1 ©@%anmemo @@ET (1)

GNU/Linux 6@ (aicm Jeea@cébcﬁ
(2)

&) (GBS processor HER

- computer m ealend agyeiw

machine language program
@EXOM} Processor HOK
computer @ execute 6.1

oifigl. agme@eE? (1)
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soeadlonaienss smosmg,oﬁm
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16. Match the following : -

16. caitge aldl coidda)es.

314

elseif(a==12)
cout <<"two";
elseif (a==3)
cout <<"three";
elseif(a==
cout <<"four";
- elseif (a ==5)
cout <<"five";
else _ :
cout<<"No greater than five";
} o S
Can you modify this code using
another conditional statement.
How?
- KR-14

(2)

cout<<"one";
elseif (a = = 2)
' cout <<"two";

else if{a==23)
cout <<"three";
elseif (a == 4) '
‘cout <<"four";
elseif(a ==5)
cout <<"five";
else .

}
oD code GUOO aRO®ERLYO
conditional statement |
salewousla] modify amgon% '
aRIemo? ag)sms)m?

(2)

1) Windows 2005| a) Browser 1) Windows 2005| a) Browser
2) MS Word b) Translator | 2) MSWord | b) Translator
3) Interpreter - | ¢) Operating system 3) Interpreter | c) Operatingsystem
4) C++ d) Software 4) C++ d) Software
5) Internet e) High level - 5) Internet ) High level
Explorer language _ Explorer language
6) Pentium4  |f) Assembly language|]|6) Pentium 4 f) Assembly language
g) Gigahertz. g) Gigahertz. =~ =
| 3 _' 3 |
17. Compare arrays with structure. (3) 17. Strucﬁures o arrays 9o
Determine the total bytes @atleges @OO®IOMO t.f3).
‘required to store a{10) [6],an =~ - MSEMmdb. )
integer 2-dimensional array.. 1) {18. em integer 2-dimensional array
19. Write a program tofind the @ow af10] (5] store eaxgoctY
largest of n numbers using a og)@® bytes @DOIIOYENE? o )
function. o (4) [19. 'n' numbers @ largest G L
20. #include <iostream.h> mmuUd BoemymMmeiimies program
void main () - function @ase@ociial qg)?gmg& (4)
{ 20. #include <iostream.h> R
_int a; void main () - _ S T
ifa==0) { X L
" ", 1nt a; . R,
| cc.out <<'zero; ifla==0) _ - A ol
else if (a = =‘ 1) cout <<"zem"; ' £
cout<<"one"; elseif (a==1}

cout<<"No greater than five";
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22.

:Vrlte an équivalent_ C++
expression for the following

Write a program to check

whether the given number is
prime or not.

OR
Write a program to print the
truth table for XY+Z.

Predict the O/P of the following

. code segments. -
i) int a = 15;

4) |

1)

cout<<"a++="<<a++<<"a="<<a;

ii)inta =15;

coute<"++a="<<++a<<"a="<<a;

" pressions.

Do JxliyZez?

- 25,

* o

x'_xl

W) 2-ye® 44y

| i*f‘ _ p+q/(r+s)4

Identify the errors in the
following code segment and
correct it.

int main ( )
{
clrser ();
cout>>"Enter two numbers",
cin<<num<<auto; _
float area = num*auto;

L

KR-14

@

(2)

- @

21.

22,

23.
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a0} e prime number

- EDGEEMO EREIERID agyy

Sezalislenym program .
(4)

Gy FITYho.

anep]eslcd
XY+Z  agm expression 6@
truth table print e.aigyom
program ag)¥i®)ds. -

(4)

m)omg:iom{;m') code segments
o} output &ensieliSlens.
) inta = 15; |

cout <<"at++="<<a++<<"a="<<a;

(ii) int a = 15;

cout <<"++a="<<++a<<"a="<<a;
‘ L (2)
®69a 0N expressions af :
OMIMAOW C++ expressmns
0gyoRTYs. |
) JxliyZez?
i) fe* -x
it) 2-ye? 14y

iv) p -+q/(r +s )4 (2)

®EE60eMM code segment

6XQ errors aemgalidinl
wdlossi G SYYB>.

1int mam ()

{
clrser();
cout>>"Enter two numbers ;
cm<<num<<auto

float area = num*auto;
| . ' (2)

(P.T.0.)




28. i) Explain the advantages and
~ limitations of a flowchart.

ii) Draw a flowchart to check
whether the given number is
armstrong or not.

(2)

3)

26.

i) Flow chart exf) advantages
o limitations o agyrmye.

i) emidleaim maud

Armstrong @geemo @ogiewo
agym’ sengia I seydes. e
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